& #L Al

Bit1—M—(5) 1RHEXOFA
[5ix6 50M, BIiZ45 0HFF~TWET, RILY 7 v U —2a% 1ETHOZENETNOD
FTEfECH T 2 A, WOEREIIBDOKRED 3512780 F L, ] ofiftkoi=oHiz

(7) Y7 7 V=L 1Oz x HE LT, TRz o< sy,

LOFTHEE Y 7 F 2 ) — 2 1 HORE=EEoFE -y 7 F 2 U — L 1 HORE) X 3

- =( - ) X 3

(1) BOEEZRDIRE U,
(7) THOL o= HFREREHL &

650—x=1350—3%
—x+3x=1350—650

2x=700
x=350
V77U —A1HOMERIT3 5 07D
AR A M cd
Lo &S

AESIIEETEICHEZE W TEE L, FFoTWnWaB4&T, $hEX5KHE Y &
200M&xEV, 1T0KRKESE100ME FHA,

O E1IAROEEREZ xHE LT, FTEAZSID IV,

@ AZADFEF-S>TWEHEBEZRDRIW,



